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SI. No.1
QBID:1364691

From among the four options given, choose the pair of phrases that will be the
most suitable to complete the following and make a meaningtul sentence :

The best advice that my parents gave me 1s don't and

(A) put all your eggs in one basket: a penny saved is a penny earned
(B) break the ice; do something at the drop of a hat

(c) give someone the cold shoulder: go on a wild goose chase

(p) hit the nail on the head: kill two birds with one stone

A WMeg I WY [Had el a7

(A) FHIE 95

(B) s

(c) Hrs

(D) Mot
Answer Given by Candidate : B

Sl. No.2
QBID:1364692

Find out which part of the sentence has on error, if there is no error, mark option
4

(A) Countries dealing with existing humanitarian crises
(B) or emergencies are particularly exposed

(€) to effects of COVID-19

(p) No Error

Frafafeaa # § fRmir 1 w6 s s &

(A) TBr: + HiTr

(B) BRI+ HiUT

(c) TR + @l

(D) TBR: + #ull

Answer Given by Candidate : D




Sl. No.3
QBID:1364693

From among the four options given, choose the one that has been spelt correctly.
(A) Thesarus

(B) Thesaurus

(€) Thesaurs

(D) Thsaurus

FafafEa | ¥ 5z 2 =1 997 Fifeu-

(A) TR

(B) yHIUR

(c) ST

(D) sfoEres

Answer Given by Candidate : A

Sl. No.4
QBID:1364694

Choose the correct pair of prepositions, in the correct sequence, from among the
four options given, to fill n the blanks m the following sentence :

he climbed the train, he bought a bottle of water for

the journey.
(A) Upon: in
(8) Until; before
(c) Betore: aboard
(p) During: onto
Fofeiad gregiel ®1 HAR aieyd Siig-
A F g
B. Fgd 341
C. TH
D. 5 a1
E. 7[@E &1 o5
At feu U [9weai § 9 98 IR &1 994 B
n) E.D.C.B. A
) A.B.C.D.E
(c) B.C.D.E. A
() C.D.E.A.B

Answer Given by Candidate : B

Sl. No.5




QBID:1364695
From among the four options given, choose the idiom that will be the most
suitable to complete the following statement :

"The police realised that they had been when it was proved that
the man they had arrested was mnocent'.

(A) comparing apples and oranges

(B) getting a taste of their own medicine

(c) barking up the wrong tree

(p) saving for a rainy day

FafaiET TRl &1 FgaR Jafd Sifag)
A, B &4

B. T &4 910

C. 331 7l &3
D. dge™ #
E. &a #1

i feu U fewed! # 9 w8l TR &1 904 S
) A.B.C.D.E
@) B.C,D A E
c D.B.AEC
() C.D.E.A. B

Answer Given by Candidate : C

Sl. No.6
QBID:1364696

From among the four options given, choose the phrase that will best answer the
question below :

Do you visit your grandparents often ?

(A) Everyone knows it

(8) He is very annoying

(¢) From tune to time

(p) I don't want to bother you
FafafEa & ¥ vaaEs S 1 909 i)
(A) TearaE

(B) emman

(C) 3mTS




(D) XTHIET
Answer Given by Candidate : B

Sl. No.7
QBID:1364697

Find out which part of the sentence has an error. if there is no error. mark option
4.

(A) Online education 1s an amenable mstructional
(B) delivery process includes any learning

(c) that takes place via the internet.

(p) No Error.

FafafEa | ¥ gied 2ss =1 977 Fifau)

(A) SR

(B) HSilgc

(c) frmEe

(D) HIadl

Answer Given by Candidate : D

Sl. No.8
QBID:1364698

From among the four options given. choose the phrase that will be the most
suitable to complete the following and make a meaningful sentence :

Studying in a private University

(A) is like comparing apples and oranges
(B) costs an arm and a leg

(c) is like going on a wild goose chase
(p) happens once m a blue moon
USTHAR H TH &-

(A) HHYRY

(B) TH¥H

(c) FgHIe

() &1

Answer Given by Candidate : C

Sl. No.9
QBID:1364699

From among the four options given. choose the one in which the word has been
spelt correctly.

(A) Excreable

(B) Execrable




(C) Execreble

(D) Execrabble

FofEa ol & FAER HaRyg Sy
A &0
B. 3a 9 FR @
C. Y24 gra |fed

D weH
E. e &

+id ey 70 fwed! # 9 |l IR &1 904 S
(n) EED.C.A. B
B) D.C.A.B.E
(c C.A.B.E.D
m) A.B.E.D.C

Answer Given by Candidate : A

Sl. No.10
QBID:13646910

From among the four options given. choose the correct sequence of the four
phrases given below. to make a meaningful sentence :

A. Smgle thought or idea

B. A verb and an object and

C. A simple sentence contains a subject
D. Normally conveys a

(n) D.AC.B

B) A.C.B.D

(c) B.D.A.C

(o) C.B.D. A

"HTTE WS F1 [GTE Wes o-
(A) ferm

(8) famg

(c) =HE

(D) 34

Answer Given by Candidate : C

Sl. No.11
QBID:13646911




From among the four options given, choose the one word substitute for the
phrase:

'a young person who commits a crime’
(A) Teenager

(B) Adolescent

(c) Delinquent

(D) Student

T Weg F1 314d TaigaE! et -

(A) faemar

(B) ‘amefd

(C) =

(D) &

Answer Given by Candidate: A

Sl. No.12
QBID:13646912

From among the four options given. choose the correct sequence of the four
phrases given below. to make a meaningful sentence :

A. my father rose at 5.30. went to his study

B. and then went back to work for the rest of the morning
C. every morning. no matter how late he had been up

D. wrote for a couple of hours, made us all breakfast

Ay A.B.C.D
) C.A.D.B
(co B.D.A. C
m) D.C.B. A




FoffEd w=w &1 vges 18U T vl ¥ 96 ey &1 999 S
FERI 7€ Sgivd T

gas | W1 @ &0 9F
YA FER U ..

BIeHL e B Fve! ¥ &9 1w Jeed
O 9IdHY RN Bl W,

aerse wid & 71 I i gy

T 91 gAY i FR o US EIfiE &
arg o1 i agm

TH I 91T Tl URE

<@ Bl W A

Y U BI?

it 7 B

1 31 Oie B 9 uiigd F Ugdl 9

®fa g T2 & frasl <qfta gue #1 91d ST o7
(a) Pt

(B) =Bl

(C) TS

(D) 7 ¥ =g T8l

Answer Given by Candidate : B

Sl. No.13
QBID:13646913




Match List I with List IT :

LISTI LISTII
i |apaanas I L—uexpec_ted or improbable
explanation
B. |deus ex machina II. |One's old university or school
C. |genius loci ITI. |Fair exchange
D. |quid pro quo IV. |Spirit of the place

Choose the correct answer from the options given below:
(A) A-L B-IIIL C-II, D-IV
(8) A-IL. B-I, C-IV, D-III
(C) A-IIL B-I, C-IL D-IV
(p) A-II, B-IV. C-1, D-III

ST BT Ifsad 3 2-
(A) RRER

(B) &UTHYT
(c) ¥ d

(p) T

Answer Given by Candidate : B

Sl. No.14
QBID:13646914

From among the four options given, choose the one which is a grammatically
correct sentence.

A powerful voice mnside me whisper that I am be foolish, that a woman sixty

(A) year old should have more sense than too undertake a journey like one ths.

A powerful voice msides me whispered that I was be fool. that a sixty year old

B : :
(®)  \woman shall have more senses than to undertake a journey like these one.

A powerful voice mside me whispered that I was being foolish, that a sixty year

(©) old woman should have more sense than to undertake a journey like this one.

A powerful voices inside I whispered that me was being foolish, that a sxty
(D) years oldest woman should having more senses than to undertake a journey like
this one.

Proftifed § § woeme $1 gukaRT 16 o
(A) FEIded
(B) RfE=
(C) wEIg

(D) UFEd
Answer Given by Candidate : C

Sl. No.15




QBID:13646915
From among the four options given, choose the correct sequence of the four
phrases given below. to make a meaningful sentence

A destination. make sure to

B. plan your itinerary carefully

C. once you reach your

D. since you only have a few days to see everything

(A) A.D.C.B

B) D.B.A.C

c B.C.D. A

m) C.A.B.D
T F Micas 27 8-
(A) I

(B) T

(c) =i

(D) F=oUl

Answer Given by Candidate : B

Sl. No.16
QBID:13646916

Choose one word substitute for the following :

One who walks at night
(A) Sommnambulist
(8) Somniloquist
(¢) Noctambulist
(p) Ventriloquist

& Fy fay M ¥ ue ey (Assertion A) & = H fif@a # o gow 9 aRu
(Reason R) & ¥4 F,

i@y A: S oerl & U-uTy e} e 9 S |fouivadd g & |9 9fd &Ea 7
SR R: & 99-919 & @l &1 e o |6 2

9y ®YF & S H, A fGu e fGeel # 9 e 9uged S &1 904 Siel

(A) A SRR EH 951§ R R, A 1 95 = §
(B) A 3R R ZHT W& & SR R, A #1 Wl orem &1
() ATfizefAR TG TE 2

(D) A gl 76l & Qe R W81 &

Answer Given by Candidate : A

Sl. No.17
QBID:13646917




From among the four options given, choose pair of words that are antonyms of
each other

(A) Various: many
(8) Vivid; dreary
(c) Vile; evil

(p) Victory: award

9 31 v fBU 7Y B, % SHSUT (Assertion A) & w9 § AT € O 390 596 SRO
(Reason R) & ¥4 F,

Hfimua A: SUEF Tegi Bid &1 SA®] YR Wad U 81 {691 o 96l &l

SR R: 54 T & URY ¥ 93U Wy ¥ 99 Tes =1 o 92a 91 &

SUdad BUH & o H, H 2y U fAed § € 9e9 Sued S} & 994 S|

(A) A SRR EH 951§ R R, A 1 95 = §
(B) A 3R R ZHT W& & SR R, A #1 Wl orem &1
() ATiizefARaETE 2

(D) AWE 2R R ¥ &

Answer Given by Candidate : B

SI. No.18
QBID:13646918

From among the four options given, choose the pan of words that are synonyms
of each other.

(A) Sensible; ndiculous
(8) Ridiculous: funny
(c) Funny: tragic

(p) Tragic: romance

#2 & #y= 3 70 2, U AfUFUF (Assertion A) F 9 # fiflT § & g 99 SRU
(Reason R) & ¥4 F,

fiEya A: o gor 18 &1 orf UeTE 51aT 81 95e UG R arEl S9HE SR gEN U
== 2rya1 IUHg BT 81 98 HHYRY WA gl

BN R: TEATT HUTd 950 & R W s () sy 9919 &1 SeEw 2

SUgad HYH & ME H, 9 18U U Aeedl d§ € 999 99 S} &1 99 S|

(A) A SRR EE 9618 SRR, A 91 98 e &
(B) A SR i @8l & sk R, A &1 el ourem =81 &
(C) AWEIZ A R 98l 761 &

(D) AWEl i AFAR eI &

Answer Given by Candidate : A

Sl. No.19
QBID:13646919




Choose the correct mdirect speech form of the following sentence :

She said to me, "I am writing a letter to my father."

(A) She said to me that she is writing a letter to her father.
(8) She told me that she was writing a letter to her brother.
(c) She says that she has been writing a letter to her father.
(D) She told that she wrote a letter to her father.

e &1 BuA 3 0 B, e P (Assertion A) &9 # ff&d ¢ f gH1 Su& BRU
(Reason R) & ¥4 F,

HfUEYT A; oS0 § O5Y O1 T &1 aiY &Y aTd ¥leg w9 &1 &7 H5d 3

SR R; ¥eg & o $9 ¥ 9% 901 99 [ 95 Io9 lid &1 ¢ Yal Wl 9 &1, 39 i $ad
gl

SUgad HYH & M H, 9 18U U Aeedl § € 999 99 S} &1 99 S|

(A) A SRR SHf 6¢1 % sk R, A #I wél ourem 3
(B) A ¥R i 981 & sk R, A &1 &l aurem =81 &
() ATSZafaRaE T8 2

(D) AWEl iz AFA R Wel &

Answer Given by Candidate : D

Sl. No.20
QBID:13646920

From among the four options given, choose the correct idiom to complete the
following sentence :

When her parents got to know that she had cheated i the exams. they .....

(A) beat around the bush
(B) read her the riot act
(c) spilled the beans

(p) told her, "the proof is in the pudding”
f5dl aufmagaR FafefEaa Tl &1 981 ag®a & 82

A g
B.&9%
C. ghA
D. 31

E. 91T

=i feu U foedl # § Wel 39X &1 999 i
(a) C.D.AE.B
(8) A.C.D.E.B




(c CCA.D.E.B
m A.C.D.B.E

Answer Given by Candidate : A

Sl. No.21
QBID:13646921

From among the four options given, choose the one which is a grammatically
correct sentence.

(A) He and she go to the market every Sunday to buys fresh vegetable.
(8) He and she goes to market every Sunday to buy fresh vegetables.

(c) He and she go to the market every Sunday to buy fresh vegetables.
(p) He and she goes to the market every Sunday to buys fresh vegetables.

oo weaiel &1 HHTER S0aieyd Sk

A TEEH TS
B. EIaR0
C. gg1 femr g

D. dA-gfegi =
E. 3™
e feu T foeedl | 9 W5l 3R &1 909 S
(A) ALB.C.D.E
) B.C.D. A E
© D;B,CEA
m) D.C.A . B.E

Answer Given by Candidate : D

Sl. No.22
QBID:13646922

Choose the correct sentence.

(a) Ilook forward to hear from you soon.

(8) I look forward to hearing from you soon.

(c) Ilook forward with hearing from you soon.
(p) I look forward to have heard from you soon.
fafefaa & § e 9 s ae gerad &1 wg onl a1 &7
(A) = & B BT

(B) T A WER &I

(C) FHe H 3R FFe oMl

(D) VIR § §AOH TF
Answer Given by Candidate : B




Sl. No.23
QBID:13646923

Identify the correct passive voice form of the following sentence :

I saw the dog eating it.

(A) I saw it bemg eaten by the dog.

(B) I saw it was being eaten by the dog.
(c) Isaw it is bemng eaten by the dog.
(p) I saw something eaten by the dog.
R FEtime

FYF | - o odamt & 0t faifig gordf e =@ =1 39 =61 o9 S vaoee 9daE
Fed ol

FYF [1 : & Weg I T1 F44H &1 OEivar sa9 &, oy seard 81

SuE BYA & e 4, A9 3 e fiwet § 9 98 IR &1 9 S
(A) FYF1 R II eHf g &

(B) ®¥A AR Il eHf e &

(C) ®uA ] T & Al B 11 39 &

(D) T IO eI FH I IO

Answer Given by Candidate : D

Sl. No.24
QBID:13646924

From among the four options given, choose the one word substitute for the
phrase :

'an expression of sympathy'

(A) apology

(B) condolence

(c) pity

(p) chanty

"HFGAT e ISAT 59 qorae &1 Tt onf 2-
(A) 3iiE SiaEa &

(B) &G Hg fault e

(C) TR & W

(D) fct i H 31 ST




Answer Given by Candidate : D

Sl. No.25
QBID:13646925

Choose the correct order of the paragraph to create a meaning out of PQRS set :
This part of the arsument shows

P : such as the legal. the political and welfare systems.

Q : how mtermediate social mstitutions in America.

R : and their role in the transformation of rehabilitation into a commodity.

S : contribute to the specific way in which dizability is produced
(a) RS5QP
(8) PQRS
(c) QPSR
(o) SQRP

Fmfiiad aegie & GaERE Tegl $1 96 gH gHL-

A, T8 WX A A 5 T B -
B. 9T ¥ 915 &1 99T - {WE

C. o &Y T8 74Tl - HFa4d
D. o A Sd A 8 - 3dd
E. o1 de a1 9191 9 9 9 - 9y
i feu U fSweal A ° 98l ST &1 999 i
(A) =@ D.E. C
(B) Ha0 A. B. C
(c) #a8 A . B.E

(p) @A B. C. D

Answer Given by Candidate : B

Sl. No.26
QBID:13646926

Select the pair which has the same relationship the pair below

Grammy : Music

(A) Booker : Literature
(B) Fame : Television
(¢) Mutton : Sheep
(D) War : UNO




Fofafad § 9 qeov @ 59% wel o &1 984 &4

A. T5-TF I TH-58 M1 - Tgd IRYA F1
B. R iga-To v, e mes @= 8
C. 3T &1 TG I - ERE T S
D. 3R 99 &1 - Tearg® [aue
E. SAF &1d § g1 - Sisie uIe o1
g fau o fawedl € 9§ w5l 30 &1 904 &g
(A) #@a A.D.E
(B) #a@ B, C. E
(c) AU A, B. C

(p) =@ B. C.D

Answer Given by Candidate : A

Sl. No.27
QBID:13646927 _
Eead the passage below and answer the five questions that follow :

Hunting out cafes 13 probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums. steaming
tingmos and cubes of yak cheese But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memornies.

Arriving 1in Ladakh, I was advised to take some rest to acclimatise mvself to the cold weather
and sparse oxygen But after a short nap_ I realised I was feeling just fine, and headed out to
explore the local market to prepare myself for more arduous adventures the following day.

It a bid to trv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that I generally love experimenting with in cafes, [ hunted out a lovely little cafe
right i the heart of Leh's bustling market. Seeing my inquisitive eves, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearly needed something warm
and nourishing to get me ready for the evening.

From among the four options given. find the word in the passage that means the
same as 'old fashioned'

(A) Bustling
(8) Nourishing
(c) Quaint

(p) Fascimating




forg & 3 gufaren o1 3d o0 HH-ar 2

AdYqgd
B.c.6.5.6
C.d.9v.d
D.®. 4. 7.Y
EU®h.d Y

- feu T fas el & § 9ard Sugad ST 1 99 DI
(a) ¥ C.B.A. D
B) #@a D.C.B. A
(c) #TUE.C,.B.D

(p) #@a D.C. A. B

Answer Given by Candidate : B

Sl. No.28
QBID:13646928
Eead the passage below and answer the five questions that follow :

Hunting out cafes 1s probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums, steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving in Ladakh, I was advised to take some rest to acclimatise myvself to the cold weather
and sparse oxygen. But after a short nap. I realised I was feeling just fine, and headed out to
explore the local market to prepare mvself for more arduous adventures the following day.

In a bid to try somethung local and refrain from induging in the usual fare of cappuccinos and
macchiatos that I generally love experimenting with in cafes. I hunted out a lovely little cafe
right in the heart of Leh's bustling market. Seeing my inquisitive eyes, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of

local kahwa, which I accepted without a second thought. I clearly needed something warm
and nourishing to get me ready for the evening.

What would you normally expect to find on the menu of a restaurant in Ladakh
]

(A) Dimsums. tingmos and samosas
(8) Tingmos. cappuccino and cubes of yak cheese
(c) Cappuccionno, macchiato and dimsums

(p) Dimsums, tingmos and cubes of yak cheese




Fefeaa | 9 35 a1l =1 994 S

A. FUT1 U7 0@ &1 375 5

B. I A Higd R $ER TR fEa1l

C. FE-9% & A4 TaH] 81 USa gl
D. &3 T3+t @t 9aeft & a5 o 4y omdt 2
E. 9ifed 3R Siia- &1 4HE T84 §

14 feu U fawedl # 8 =9 Iuged &1 909 B
(A) #aa C.A. B
(B) #aa B. A, D
(c) #@a A . B.C
(p) ®@U C.D.E

Answer Given by Candidate : B

Sl. No.29
QBID:13646929 _
Eead the passage below and answer the five questions that follow :

Hunting out cafes is probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums. steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving 1in Ladakh, I was advised to take some rest to acclumatise mvself to the cold weather
and sparse oxvgen. But after a short nap_ I realised T was feeling just fine, and headed out to
explore the local market to prepare myself for more arduous adventures the following day.

In a bid to tryv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that I generally love experimenting with in cafes, [ hunted out a lovely little cafe
right 1n the heart of Leh's bustling market. Seeing my inquisitive eyes, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearly needed something warm
and nourishing to get me ready for the evening.

Why was the writer advised to take some rest on arrival at Ladakh ?

(A) To get acclimatised to the cold weather and the lack of oxygen

(8) To enjoy the traditional Ladakhi cuisine being put together by his hosts
(¢) To prepare lhimself for more arduous adventures the following day

(p) To enjoy some kehwah later m the afternoon




Ffafaa 7 § 98! SeEdl td 3°@ onf &1 =aq Sifem)

A. T3@ 520 7 99 W1 7% B fakty wm - g = fven g o 2

B. W g9 69 &1 ®Y @R X 3erg - 30 sfdsial § g oY S8
C. ¥d 9 FUE Jawl § agHgl - UG el gaal

D. H3 T |17 Sgex &4 - fgfaer & gz

E. 79 Aies, A & Y@ 9015 - a1 919 § giat g1 ghel|

i feu 7 fgeeal # ° 98l SO &1 999 i
(o) #aa B.D.E
(B) #aa A . B.C

(c) ¥ A.D.E
(p) #@a B. C.D

Answer Given by Candidate : A

Sl. No.30
QBID:13646930 _
Eead the passage below and answer the five questions that follow :

Hunting out cafes is probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums, steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving 1in Ladakh, I was advised to take some rest to acclimatise mvself to the cold weather
and sparse oxygen. But after a short nap. I realised I was feeling just fine, and headed out to
explore the local market to prepare myvself for more arduous adventures the following day.

Inn a bid to tryv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that I generally love experimenting with in cafes, I hunted out a lovely little cafe
right in the heart of Leh's bustling market. Seeing my inquisitive eyes, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearly needed something warm
and nourishing to get me ready for the evening.

From among the four options given, find the word m the passage that means the
opposite of 'deserted’

(A) Quaint
(8) Bustling
(c) Explore
(D) Arduous




= 1 & w1y gl 11 1 e S

T - 1 9 i - 11 et
A. g 1. 3

B. & I1. TR

C. &% II1. ~ufifs
D. $fm IV. [

i feu 77U fasedi | 9 W5l IR &1 90 B
a) A-IL B-III., C-I. D-IV
(8) A-IV. B-I. C-III. D-II
(o) A-II. B-I, C-IV., D-III
(p) A-I, B-II, C-IV, D-III

Answer Given by Candidate : C

Sl. No.31
QBID:13646931

A company has 10 software engineers and 6 civil engineers. In how many ways-
can a committee of 4 engineers be formed from them such that the committee
must contain exactly 1 civil engineer ?

(A) 800

(B) 780

(c) 740

(p) 720

UF S | 10 FUedR gen-r SR 6 fafae soifaar 81 99 9 4 soifadl &t afafa
fha TRE § &5 o1 91 & & 9 ¥ S U f&fEe soif—os o9t &2

(A) 800

(B) 780

(c) 740

(p) 720

Answer Given by Candidate : Not Answered

Sl. No.32
QBID:13646932

A bag contains 7 green and 5 black balls. Three balls are drawn one after the
other. The probability of all three balls being green, if the balls dravwn are not
replaced will be :

(A) 7/44
(B) 17/44
(c) 23/87
(D) 12/67




TF S H 7 54 3R 5 S 712 31 UF & 915 UF S 3 16 e ol a1 afe e 75
T ufomnfta 951 $1 F"t 91 5F =919 #1 3 wihedr & i 341 72 51 ghie

(A) 7/44
(B) 17/44
(©) 23/67
(D) 12/67

Answer Given by Candidate : B

Sl. No.33
QBID:13646933

In how many different ways can the letters of the word 'OPTICAL' be arranged
so that the vowels always come together ?

(A) 120

(B) 720

(c) 4320

(p) 2160

Teg 'OPTICAL' & 3eRf &7 fpae srer-am 291 ¥ axafeud 6 o 9ear & e an
WY 3N Uh 1Y 37

(A) 120

(B) 720

(c) 4320

(D) 2160

Answer Given by Candidate : B

Sl. No.34
QBID:13646934

A bag contains 5 red smileys, 6 yellow smileys and 3 green smileys. If two
smileys are picked at random. what is the probability that both are red or both
are green in colour ?

(A) 1/14
(B) 3/7
(© 2/7
(D) 1/7

U T 6 T W5t 6 0 gt ST 3 5 Wigdl ¢l o aef<se w9 ¥ 21 Wt
e o ot 59 91 S 0 Wik & fF a1 a1 SEf oe shft an St g8 8

(A) 1/14
(B) 3/7
() 2/7
(D) 1/7

Answer Given by Candidate : A

Sl. No.35
QBID:13646935




There are two regular polygons with number of sides equal to (n— 1) and (n +
2). Their exterior angles differ by 6°. The value of n is

a) 11

(B) 12

(© 13

(D) 14

1 Fafta sgya & el yenet 21 9@ (n - 1) &R (n + 2) 31 S7& sfewsmi # 6° &1
R &l n FHE 177

(A) 11

(B) 12

(© 13

(p) 14

Answer Given by Candidate : Not Answered

Sl. No.36
QBID:13646936

In a mixture of milk and water, there 1s only 26% water. After replacing the
mixture with 7 litres of pure milk. the percentage of milk in the mixture become
76%. The quantity of mixture is :

(A) 65 litres
(B) 91 litres
(c) 38 litres
(D) 78 litres

g¥ SR Ul & US B #, Ot Saa 26% 71 afe s & 7 o gE gy 9 wfowmafua
faa wmg f fe | gy &1 uiaed 76% 1 wra g Yo S A fea g

(A) 65 X
(B) 91 e
(C) 38 drex
(D) 78 @i

Answer Given by Candidate : Not Answered

Sl. No.37
QBID:13646937

The average temperature of the town in the first four days of a month was 58°F.
The average for the second. third. fourth and fifth days was 60°F. If the
temperatures of the first and fifth days were in the ratio 7 : 8, then what is the
temperature on the fifth day ?

(A) 62°F

(B) 64°F

(c) 65°F

(D) 66°F




ol e & et 9 feaf § =ex &1 o9 arom 58°F o1l gy, ey, 9 @R uied
f&a &1 3fa 60°F unil af ugdt iR uied faa & amuEi & 7 ; § &1 29 & o ur=d 2=
&1 aIgH T &2

(A) 62°F
(B) 64°F
(c) 65°F
(D) 66°F

Answer Given by Candidate : Not Answered

Sl. No.38
QBID:13646938

The roots of the equation ax? + x + b = 0 are equal if
() b?=4a

(B) b?<4a

(©) b2>4a

(D) ab=1/4

TS ax? + x + b= 0 F o s 51, afg

(A) b =4q

(B) b?<4aq

(© b’ >4a

(D) ab=1/4

Answer Given by Candidate : C

Sl. No.39
QBID:13646939

If (x — 6) is the HCF x2 — 2x — 24 and x? — kx — 6 then what is the value of k ?
(a) 3

(B) 5

(©) 6

(D) 8

afg x2 — 2x — 24 MR 2 — ko — 6 T AETH FANES (x — 6) B, 1 k B A9 71 &7
(A) 3

(B) 5

(©) 6

(D) 8

Answer Given by Candidate : C

Sl. No.40
QBID:13646940




50 men took a dip n a water tank 40 m long and 20 m broad on a religious day.
If the average displacement of water by a man is 4 m>, then the rise in the water
level m the tank will be :

(A) 25 cm
(B) 35 cm
(©) 40 cm
(p) 30 cm

U yifie fgaa w50 @1 3 us 40 di. 7@ 3R 200 918 womeg § gas! @s) afg ue
cafa GRT FEwIia S &1 |1 4M, § o SRy $1 0okt S S 3

(A) 25941
(B) 35 9!
(©) 40 i
(D) 30 FHI

Answer Given by Candidate : Not Answered

Sl. No.41
QBID:13646941

A large field of 700 hectares 1s divided into two parts. The difference of the
areas of the two parts is one-fifth of the average of the two areas. What is the
arca of the smaller part in hectares ?

(A) 415

(B) 485

(c) 315

(p) 385

700 3RW & U ¢ AeH &1 &yl # fwifea fem mn 21 S RSt & gawal &
SR S 4ahat & dEd &1 1/5 81 Bl 5 &1 49 seem ¥ fsa 27

(A) 415

(B) 485

(c) 315

(p) 385

Answer Given by Candidate : C

Sl. No.42
QBID:13646942

The sides of an equilateral triangle are (2a — b) cm. (a + 3b) cm and (2a — 2b +
1) cm then the perimeter of the triangle 1s

(A) 21 cm

(B) 15cm

(©) 12cm

(D) 3cm




afg &8 wrarg &1 4ot (2a — b) 94, (a + 3b) T4 3R (2a — 2b + 1) & & & Byg
&1 UIHY F1 §RI?

(A) 21 FH
(B) 15 =i
(c) 12 %
(D) 3 g

Answer Given by Candidate : Not Answered

Sl. No.43
QBID:13646943

A starts a business with Rs. 40.000. After 2 months. B joined him with Rs.
60.000. C jomed them after some more time with Rs. 1.20.000. At the end of
the year. out of a total profit of Rs. 375,000, C gets Rs. 1.50.000 as his share.
How many months after B jomned the busmess did C jomn ?

(A) 5 months
(B) 6 months
() 4 months
(D) 7 months

A A TF g ¥ 40,000/- ¥ 7R BT 2 #EH F 915 B 99 @Y . 60,000/- F @y
TS B 7T C $@ SR 9HY Uy . 1,20,000/- & 91Y S48 g5 0¥ & o H o0
375.000 F WY EF C &1 w. 1,50,000 39 B8 & R R f&en B & yaam # =nitm
gH & Sad 98 918 C S99 § i gem

(A) 5HEH
(B) 6 HEM
(©) 47eH
(D) 7 HeH

Answer Given by Candidate : B

Sl. No.44
QBID:13646944

Sumit read 6/13™ of a book in 1st week and 5/9W of the remaining book in 214
week. If there were 100 pages unread after 27 week. how many pages were
there in the book ?

(A) 404

(B) 416

(c) 418

(D) 420

AT 3 UF g $1 6/1391 2T usd g H Ugr i 5/941 fEwET g 9 H e afg g
T & &1 1 100 U8 5 9¢ MU ¢ d 5@ | o fhad gy 47

(A) 404

(B) 416




(c) 418
(p) 420

Answer Given by Candidate : Not Answered

Sl. No.45
QBID:13646945

> Jfie2
N
(A) 12
(B) 14
(©) 144

(D) 196

7 4162

Jizs 2
(A) 12

(B) 14
(©) 144
(D) 196

Answer Given by Candidate : B

SI. No.46
QBID:13646946

What 1s the difference between the biggest and the smallest fraction among 2/3,
3/4, 4/5 and 5/6 ?

(A) 1/6

(B) 1/12

(©) 1/30

(D) 1/20

2/3.3/4. 4/5 AU 5/6 § T G B2 iR ved 92 fig & S w1 s 2

(A) 1/6
(B) 1/12
(c) 1/30
(D) 1/20

Answer Given by Candidate : Not Answered

Sl. No.47
QBID:13646947

Simplify the following equation

(K-LY —(K+L) a
4K b

(A)




K=bla

(B) bL=-a
() KL=1
(D) aKk=-b
Fofafaa aiieo &1 wa Sifae-

(K-L)'-(K+L)" a
4K b
(A) K=bla
(B) bL =-a
() KL=1
(D) aK=-b

Answer Given by Candidate : D

Sl. No.48
QBID:13646948

On sellng 17 balls at Rs. 720, there 1s a loss equal to the cost price of 5 balls. the
cost price of a ball 1s ?

(A) Rs. 70

(B) Rs. 65

(©) Rs. 60

(p) Rs. 55

17 figt B %. 720 ® &9+ 9 Ul TGl & AT Hgg & SX0ay g1 oidl 8| U 7ig &1 aFTd
e fee 22

(A) = 70

(B) ¥.65

(c) F=. 60

(D) F. 55

Answer Given by Candidate : D

Sl. No.49
QBID:13646949

Fresh fruit contains 68% water and dry fruit contams 20% water. How much
dry fruit can be obtained from 100 kg of fresh fruits ?

(A) 50 kg
(8) 40 kg
(c) 30kg
(p) 20 kg

T e H 68% T Bl B SR @ e § 20% T B 81 100 fFowe a9 vw F feam
faomo @1 e W fasar o W &2




(A) 50 fHeTo
(B) 40 fFHoTe
(€) 30 f&oTlo
(D) 20 &0

Answer Given by Candidate : B

Sl. No.50
QBID:13646950

In what tune would a cistern be filled by three pipes which diameters are 2 cm, 3
cm and 4 em running together. when the largest alone can fill it is 58 minutes ?
The amount of water flowmng m each pipe is proportional to the square of its
diameter.

(A) 26 mun
(8) 42 mim
(©) 32 mn
(D) 36 min

2 S, 3 St iR 4 S oo aTet JiF O1SY U |1y e B of @ UE $ & fhad 9na | W
Tod & aaie 999 98] Sy el 39 58 ffFe # WX TFal 81 5 9ISy § 954 O 9 &
A1 39% o019 & @ & JuTd H gl

(A) 26 e
(B) 42 e
(c) 32 e
(D) 36 e

Answer Given by Candidate : Not Answered

Sl. No.51
QBID:13646951

A vessel is filled with Liquid, 3 parts of which are water and 5 parts of syrup.
How much of the mixture must be drawn off and replaced with water so that the
mixture may be half water and half syrup ?

(A) 1/3
(8) 1/4
(c) 1/5
(D) 1/7

UF U H 5g ya ¢ o 3 B ardl & © i 5 fowd fang & ©) foyor § @ -t amn
FreTeh 9 et 9 uret ¥ wiawurta o o fas fasor & snur o siv smen Ry 8t 9

(A) 1/3
(B) 1/4
(c) 1/5
(p) 1/7

Answer Given by Candidate : Not Answered




Sl. No.52
QBID:13646952

4 kg of a metal contains 1/5 copper and rest in Zinc. Another 5 kg of metal
contains 1/6 copper and rest m Zme. The ratio of Copper and Zinc into the
mixture of these two metals :

(A) 94 :181

(B) 49:221

(c) 39:231

(D) 49:223

UF 4T & 4 fhoTlo & 1/5 a1 3R 29 f5i& g1 91 & Uh 39 5 fhomiod 1/6 dian 3% 2
foi® 71 e fewet & M & dfe ok Rl &1 argaa 71 gme

(A) 94 :181

(B) 49:221
(©) 39:231
(D) 49:223

Answer Given by Candidate : Not Answered

Sl. No.53
QBID:13646953

The mean of 50 observations was 36. It was found later that an observation 48
was wrongly taken as 23. The corrected new mean is

(A) 35

(B) 36.5

(c) 40

(D) 42

50 Uemit 171 36 B1 91 § Gl 9e0 5 U W07 48 BT el 9 23 B fean @ ol
SRS a1 |12 &1 G

(A) 35

(B) 36.5

(c) 40

(D) 42

Answer Given by Candidate : D

Sl. No.54
QBID:13646954

How many 3-letter words with or without meaning. can be formed out of the
letters of the word, '"LOGARITHMS'. if repetition of letters s not allowed ?
(A) 420

(B) 720

(c) 5040

(p) 120




'"LOGARITHMS' ®eg & 31&R1 & 3 3i&Ri a1t foa =reg (arf a1 snfg) a9 o1 9@ @
afe seRi 1 gghy afsfa &

(A) 420

(B) 720

(c) 5040

(p) 120

Answer Given by Candidate : C

Sl. No.55
QBID:13646955

In a group of 6 boys and 4 girls. four children are to be selected. In how many
different ways can they be selected such at least one boy should be there ?

(A) 162

(B) 195

(c) 200

(D) 209

6 TTS®I Ul 4 Usladl & Us O A W 4 9= & g1 &1 fean fw adisl @ g g W
FEal & & $H 9 $H dal TP OoH] 51 916w

(A) 162

(B) 195

(c) 200

(D) 209

Answer Given by Candidate : B

Sl. No.56
QBID:13646956

In a box there are 10 apples and 2/5T of the apples are rotten. If three apples are
taken out from the box, what will be the probability that at least one apple is
rotten.

(A) 3/4

(B) 9/10

() 5/6

(D) 4/7

UF g9 H 10 99 & U1 2/581 YR & 99 98 ol afe 3 99 969 9§ 9 e T &09 S
% TS 99 51 F1 Wiiedl 77 87

(A) 3/4

(B) 9/10

(c) 5/6

(D) 4/7

Answer Given by Candidate : A

Sl. No.57
QBID:13646957




There are 3 green. 4 orange and 5 white color bulbs m a bag. If a bulb is picked
at random, what is the probability of having either a green or a white bulb ?

(A) 2/3
(B) 4/3
() 2/5
(D) 3/4

U= 94 # 3 58, 4 00 9w 5 T ¥ F =9 §, Ofe oefsEe uF w8 &1 38 T, Ol ol
54l U1 e Sod 54 &1 WS 71 27

(A) 2/3
(B) 4/3
(c) 2/5
(D) 3/4

Answer Given by Candidate : Not Answered

Sl. No.58
QBID:13646958

The annual mterest rate earned by an mvestment mereased by 10 percent from
last year to this year. If the annual interest rate earned by the mvestment this
year was 11 percent. what was the annual interest rate last year ?

(A) 1%

(B) 1.1%

(©) 9.1%

(p) 10%

U FEw g sfvld affe s 22 59 od fUed of § 10% s wh ofe s of g g
fola o =9 2% 11% &, fUsd o oiffe s gz =01

(A) 1%

B) 1.1%
(©) 9.1%
(p) 10%

Answer Given by Candidate : Not Answered

Sl. No.59
QBID:13646959

3 partners A. B and C start a business. 4 times of A's capital is equal to 6 times
of B's Capital and B's Capital 1s 8 tumes of C's capital if profit of B 1s Rs. 6300,
Then find the average profit A and C.

(A) 5118.75

(B) 4475.25

(c) 7000.50

(D) 5000.00




3 HFTGR A, B @1 C ®UR Y $3d 5l A &1 4ol &1 4 T B &1 ol & 6 07 & swe
£ IR B #1 4ot C F1 45l F 8 7on 81 i B &1 @04 . 6300 & T8 A U1 C &1 A9d
TH 19 S

(A) 5118.75
(B) 4475.25
(c) 7000.50
(p) 5000.00

Answer Given by Candidate : Not Answered

Sl. No.60
QBID:13646960

What is the thousandths digit in the decimal equivalent of 53 7
5000

(A) 3

(B) 1

(© 6

(p) O

53 & Jod qRATT A goRal o 27

5000

(A) 3

(B) 1

(c) 6

(p) O

Answer Given by Candidate : A

Sl. No.61
QBID:13646961
In an Academic Council meeting of 120 faculty members, it was found that 50 take

tea (T). 52 take juice (J). 52 take lassi (L), 18 take both T and L. 22 take both T
and J. 16 take both J and L and 6 take all the three drinks.

Ty fFgfafad = sraia gl

120 G4 Ha @I D SHDIGHD URYS B Th 889 H 50 919 o &, 52 FH o
%, 52 TR Ad &, 18 I/ SR TRl &1 od &, 22 91 3R JH & dd § 3R 6
ARl tg Ad g

The number of faculty members who take atleast one of the three drinks 1s
(A) 75

(B) 78

(c) 104

(p) 102

a1 H O ®H 9 $H UF 94 UcIY oF aTd S5 el Sl T 31 82

(A) 75




(B) 78
() 104
(p) 102

Answer Given by Candidate : B

Sl. No.62
QBID:13646962
In an Academic Council meeting of 120 faculty members. it was found that 50 take

tea (T). 52 take juice (J). 52 take lassi (L), 18 take both T and L. 22 take both T
and J. 16 take both J and L and 6 take all the three drinks.

uy fAafaiad o snuia gl

120 G GG=| DI DIG NP URYG Bl Ub 46 I 50 919 od &. 52 9F o
&, 52 el oid ®, 18 I19 SR ol Q1 ofd §, 22 91 SR SF &I od & R 6
arm e 9g dd B

The number of faculty members who take exactly one drink 1s
(A) 44

(B) 60

(c) 62

(D) 64

Ha0 UF 90 94 918 G&1g gawi @1 ge 8-

(A) 44

(B) 60

(c) 62

(D) 64

Answer Given by Candidate : C

Sl. No.63
QBID:13646963

Five sports events A, B, C., D and E are to be organized from Monday to Friday
of a week. On each day. only one event will be organized. E should be
immediately followed by C. B should be organized immediately after D. One
event is organized between A and B. D or E should not be the first or last event.
Which 1s the second event to be organized ?

(A) C

) E

(0 D

(D) A

i T ¥ OHOR € YHaR 9% Ui" @9 $HH A, B, C, D 9IR E mifed e o
U &4, 90 U ¢ SHHA e a1 Jem | E &1 +@e= C & ged 918 5HT 9ifed)
B #1 3@ D % g3d 916 &1 91iedl A 3R B & &9 # U6 SUHH &1 AEe- el D
SR E @I 9 a1 3{fH SIIHH ol W@ o Gball gAY B0 IR SH-91 SReH sifad
B




(n) C
B) E
(c) D
(D) A

Answer Given by Candidate : C

Sl. No.64
QBID:13646964

Indu starts form poimnt A and travels towards north for 5 Km. She then takes a

right turn and travels for 7 Km. She then takes a left turn and travels another 7
Km. Finally, she takes another left turn and travels for 2 Km arriving at a point
B. What is the distance between pomnt A and B ?

(A) 13 Km
(B) 12.33 Km
(©) 12 Km
(p) 10 Km

zg fag A 9§ 9091 3% S3d! & 3R IR F1 3R 5 fFerfle 9wl 21 39% 91 98 a1fes
godl & 8k 7 fborfle Tadl §1 S9% S1¢ 98 1 Hod! & 9k 7 fbotlio it gardt 31 o &
TlF TR R I el 2 iR 2 Foflc v Mg B R Eadi sl g A iR B & d9
&I gil T &7

(A) 13 fdoHio
(B) 12.33 oo
(C) 12 fFedte
(D) 10 fesodio

Answer Given by Candidate : C

Sl. No.65
QBID:13646965

At the end of a faculty Development Programme. 10 faculty members shook
hands with each other once. How many handshakes will there be altogether ?
(A) 20
(B) 45
(c) 55
(D) 90

& dom ffew sU®A & o §, 10 S519 9591 3 U6 oo 9 U6 aR 51y fiamn o
TR Tl SR g1y faeme To?

A) 20
(B) 45
(©) 55
(D) 90

Answer Given by Candidate : A

Sl. No.66




QBID:13646966
In a school. there are 250 students, and every student plays atleast one of the three

indoor games of Chess. Carrom or Sudoku. 110. 90 and 100 students play Chess.
Carrom and Sudoku. respectively. 20 students play Chess and Carrom. 20 students
play Carrom and Sudoku and 25 students play Chess and Sudoku.

uy fAfaRag Aol oR snufa g1

fAean: ts faenag 1 250 B € 3R Ud® ©F diH 51SR 15 - a3, $eH
IR GoIP ¥ U $H-Y-FH TS Ad Waidl ¢ | FaAvsl A HR JSIP Bl HH:
110, 90%? 100 BT WA 8 1 20 B a3l AR I3 JAd ©. 20 B IH AR
ISP Wd § 3R 25 BT XAl 3R YSIP Wad g

The number of students who play all the three games 1s

(A) 15
(B) 13
(c) 20
(D) 18

oIl We Wi arel o fba 89

(A) 15
(B) 13
(c) 20
(p) 18

Answer Given by Candidate : A

Sl. No.67
QBID:13646967

In a school. there are 250 students, and every student plays atleast one of the three
indoor games of Chess. Carrom or Sudoku. 110. 90 and 100 students play Chess.
Carrom and Sudoku. respectively. 20 students play Chess and Carrom. 20 students
play Carrom and Sudoku and 25 students play Chess and Sudoku.

uy fgfafaa Fegl ww snuiRd g1

e Ue faenag | 250 B § 3R Ud® B diF S8R 18 - addl, $eH
HR GSIP ¥ Y HH-Y-HH U T Wadl ¢ | avsl d=H HR YSIP &I HH:
110, 9(}%? 100 BT WA & 1 20 B Ao R HIH JAd &, 20 BHF IH AR
ISP Wad § 3R 25 BT YAl 3R YSIP Wad g

The number of students who play only chess is

(A) 60
(B) 70
(c) 80
(p) 85

Fa0 TS Ha 9 81 fead &7




(A) 60
(B) 70
(c) 80
(p) 85

Answer Given by Candidate : A

Sl. No.68
QBID:13646968

Sangeeta and Madhuri are ranked 7% and 11T respectively from the top in a
class of 31 students. What will be their respective ranks from the bottom in the
class ?

(A) 20t and 24
(B) 24t apd 20t
(€) 25t apd 21t
(D) 25t apd 20t

31 I F TF e H S R AYd B WE S FW G 78 AR 1197 21 Fa F 3761
=T e ¥ HHE: 1 B

(A) 20aT #R 2431
(B) 2471 ¥’ 20aT
(C) 25af 3R 21df
(D) 258T i’ 20df

Answer Given by Candidate : Not Answered

Sl. No.69
QBID:13646969

Identify the nussing number n place of 7 in the followng matrix, m which the
numbers are arranged in a certain way.

L
[
o

117

Lad
[a—
=
L

(A) 16
(B) 12
(©) 13
(D) 14




FafafEa e @ftem) & St &1 ve i 0 8 oafRua g o 21 vyaes e
(?) # ®H W g« H&A1 Yed1-u]

7
14 :
105 | 117

bad | =

Lad

A) 16
(B) 12
(© 13
(p) 14

Answer Given by Candidate : D

Sl. No.70
QBID:13646970

From the three statements (A-C) and four conclusions (1-4) given below.,
identify the conclusions that could be logically inferred.
Statement A : Some firefighters are drivers.

B : No driver is a cleaner.

C : All cleaners are firefighters.

Conclusion : 1 : Some drivers are firefighters.

[ ]

: All firefighters are cleaners.
3 : No cleanser is a driver.

4 : Some cleaners are drivers.
(A) 1 only
(8) 1 and 3 only
(¢) 1 and 4 only
(D) 3 only




e feu dfF BT (A-C) SR IR sl (1-4) & SMUR R 37 el &1 g o Sy
q T Wd &1 9 e g

HYH A : T8 HRHS IEE0S B 5
B : #I5 910% GhIEHH! 6l gl
C : 91X FERISHHI URHS B B
et | - F@ aEAUTs e B B
L W SffE EEEl B ol
: BIS GRS qIE-TEITs T8l ¢l

4 : T3 GREHH AEAAF o
(A) @ad ]
(B) a1 3R 3
(C) ad ] 34
(D) o 3

Answer Given by Candidate : B

|

Lad

Sl. No.71
QBID:13646971

In the context of four statements (A-D) given below. which two of these statements
cannot be true simultaneously, assuming that there 1s a t least one teacher in the
college ?

A. All teachers are enthusiastic.

B. Some teachers are enthusiastic.

C. No teacher 1s enthusiastic.

D. Some teachers are not enthusiastic.

Choose the correct answer from the option given below :

(A) A and B only
(8) C and D only
(¢) A and C only
(p) B and D only




e fau 0 R Syl (A-D) & ded # -1 S Y9 UF 91Y 9@ 6 8l 96| A1 [
Hica § $H 9 $H UF A4S B

Tt e w5 B
&% RIE IR ol &l
=18 Wt fRies Iwrel T8 g 2

T RIS ITE! T8 ald ol

i feu 77U faedi | 9 ¥El 3R &1 90 B
(A) Had A 3R B
(B) Ha@ C 3R D
(C) HadA R C
(D) Ha@ B AR D

Answer Given by Candidate : D

SI. No.72
QBID:13646972

From the statement and two assumptions 1 and 2 given below, identify the
assumptions(s) that ie/are implicit in the statement.

Statement : The nutritional status of children m India 1s better compared to that
in other developing countries.

Assumption 1 : It is not possible to estimate nutritional requirement of children in
other countries.

Assumption 2 : India can become a developed county.

(A) 1 only

(8) 2 only

(¢) Both 1 and 2

(p) Neither 1 nor 2

i &g T YA SR & ghurmaf 1 R 2 # § 39 [WyRmet S ugai-e o $YE

HYA ; o fwrala ot &1 gaa § uNa & o= &1 i d9d Rl ofie o=t 21
TAYIROT 1 ; GO SR H o] S N0 SaGHala &1 A T 99F 8 5

TR 2 ; YA U [Gsad <% &9 9l B
(A)




&g 1
(B) Ham 2
(©) &M 13R2
(D) = a1 % T8l 2

Answer Given by Candidate : C

Sl. No.73
QBID:13646973

From the statement and two arguments 1 and 2 given below. identify the
argument(s) that hold(s) strong as per the situation described in the statement.

Statement : Should government stop spending huge amounts of money on
International sports 7

Argument 1 : Yes. This money can be utilized for upliftment of the poor.

2 : No. Sports persons will be frustrated and will not get International
eXposure.

(a) 1 only

(8) 2 only

(¢) either 1 or 2

(D) neither 1 or 2

I f2u g w37 S gl 1 3R 2 # 39 a1 & ggaiay of wy= # affg oy ®
HaE H g B

FYH : T WHR B Hapg ol W YN €A &F $ a5 S o1 a1yl

& 1 : 51, 39 YA &1 39anT el & IuE & w5 9%l o

a® 2 : 81, RSt sdanfed 51 o1 SR 3% SRy Sya el fEe
(A) =ad 1

(B) Haw 2

(c) arl1ai2

(D) a1 ARAE2

Answer Given by Candidate : C

Sl. No.74
QBID:13646974

P and Q are brothers. S is brother of T. R is a father of P, T is a daughter of Q,
then who 1s uncle of § 7

(n) P
) Q




(© R
(p) T
PHRQUERIS. THYUSTIR. PHIU@ I T, QF &1 81 a1 S &1 9191 & &2
(A) P
(8) Q
© R
(o) T

Answer Given by Candidate : A

Sl. No.75
QBID:13646975

Given below are two statements :

Statement I : In the number series 1. 6. 15, P. 45, 66, 91 ------ . the value of P is
28

Statement II : In the number series 4. 1. —8. P. —20. 29, -32. 43, 44, 57 -—-- .
the value of P 15 15.

In light of the above statements. choose the correct answer from the options
given below :

(A) Both Statement I and Statement II are true

(B) Both Statement I and Statement II are false

(€) Statement I is true but Statement IT is false

(D) Statement I 1s false but Statement II 1s true

e st me:
HUF | : GE-2Ee 1, 6, 15, P, 45, 66, 91,----—-, H P &1 917 28 7|
HUT I1 ; Tom = 4, 1, -8, P, —20, 29, —32. 43, —44, 57 .-, ¥ P ST 917 15 2

SUYad HUH & oEE § A fou U fawedt # ¥ w8 IR &1 99 S
(A) A AR SH 9 &

(B) FA [ 3R II &4 3@ &

(C) =Y I E dfe &u= [T 3 &

(D) T T e eI FH [ IO T

Answer Given by Candidate : B

Sl. No.76
QBID:13646976

In a certain coding system, if DESK is written as #$52 and RIDE is written as
%7#3%. then how will you code RISK ?




(A) %725
(B) %752
(c) %7#2
(D) %7%#%

U= T4fia Te-oyawyn, ofE DESK =1 #$52 R wia1 & iR RIDE &1 %74$ foran oman &
@ RISK TTeg &1 3 341 ¢ U § F4 Feas dun

(A) %725
(B) %752
(€) %T%2
(D) %7%#

Answer Given by Candidate : B

Sl. No.77
QBID:13646977

If the word 'LIGHT" is coded as 20-17-15-16-28, then how would you code
'KEADER' ?

(A) 20-12-11-9-13-26

(B8) 20-11-9-12-13-25

(c) 20-13-9-12-13-26

(D) 20-12-9-11-13-26

ofg weg 'LIGHT' &1 20-17-15-16-28 & ¥4 # $eas fal oIl &, af 319 eg
'"LEADER' & &4 $eag S417

(A) 20-12-11-9-13-26

(B) 20-11-9-12-13-25

(c) 20-13-9-12-13-26

(D) 20-12-9-11-13-26

Answer Given by Candidate : C

Sl. No.78
QBID:13646978

In a certain code 'always help old people’ i1s written as 'ba 1 sh gi'. 'people and
old schemes' iz written as 'fa gi ma 1", 'help schemes and support' is written as
'ma jo ba fa'. and 'old and better solution' i1s written as 'ki 11 to fa'. What does the
code 'fa’ stand for ?

(A) schemes

(B) support

() old

(D) and

u% fa8 ge Wi 7 ‘always help old people’ 1 'ba ri sh gi' @1 91471 %, 'people and

old schemes' ®1 'fa gi ma ri' @1 911 &, 'help schemes and support’ ®I 'ma jo ba

%}:' IR 'old and better solution’ F1 'ki ri to fa' for@ o1l 81 @ e 'fa' o W wg=a




(A) schemes
(B) support
(c) old
(D) and

Answer Given by Candidate : C

Sl. No.79
QBID:13646979

Which of the following pairs of words express the relationship that is most
sumilar to the pair Spider : Web ?

(A) Ink:Pen

(B) Cock : Hen

(€) Teacher : Student

(p) Poet: Poetry

Teg O HEHS! ; oI § eiid 99y & gu= @9y FefafEa & § 5w we o9 | aifiened
Bl &7

(A) el : BH
() T

(C) HEHF ; B1H
(D) &g : Hidal

Answer Given by Candidate : B

Sl. No.80
QBID:13646980

Trigonometry is related to Triangles m the same way as Mensuration 1s related to
(A) Geometry

(B) Circles

(¢) Areas

(p) Polygons

Gt &1 Bl $ 9y 95 d99y & o sati/AwR $d &1 e 9 6

(A) Y@

(B8) 0

(©) &4

(D) TS

Answer Given by Candidate : C

Sl. No.81
QBID:13646981

Which of the following word is least like the other words ?

(a) Cabbage




(B) Papaya

(¢) Cucumber

(p) Brinjal

i # ¥ #1991 v 0 Tee! § "JAa9 9T Tl &2
(A) T

(B) oHia

() ERi

(D) &

Answer Given by Candidate : B

Sl. No.82
QBID:13646982

A statement 1s followed by two inferences 1 and 2. Considering the statement to
be true, which of the mnference 1 and 2 logically follow ?

Statement : Spirituality helps us to lead a blisstul life.
Inference 1 : Without the help of spirituality, one cannot lead a blissful life.

2 : Spirttuality can help bring peace of mind in an mdividual.
(A) 1 only
(8) 2 only
(¢) Both 1 and 2
(p) Neither 1 nor 2
U ®YA F 918 &l g e 1 SR 2 fiu e 7 Wi & wue v ) @ ergeia
e 1 3R 2 9 B Gh9Td o1 9 $YF BT a0 Hidl 87
FUF: SIS U6 SH<AY viad Tdid &34 & 95108 il £
A e 1, foFT sl & §edF &, $15 SH<ag wigs el ol gl

2. sl 6 &1 amfas wifone s & 9gae gl 2
(A) a1
(B) =ad 2
(€) &M 3R 2
(D) Fd1 IARFE2

Answer Given by Candidate : C

Sl. No.83
QBID:13646983




Based on the three positions of the same dice, what should be the number
opposite to 3 7

PEIEE

(i) (ii) (iii)
(A) 1
(B) 6
(©) 5
(p) 4

9 T® & 9 1 9 safufaal 6 s 71 3 F faudia famn & - s

P

(i) (i) (iii)
(A) 1
(B) 6
(© 5
(p) 4

Answer Given by Candidate : B

Sl. No.84
QBID:13646984

In a town of 130 people, 66 read the magazine L. 56 read the magazine M and 63
read the magazine N. Only 27 read L and M, only 25 read M and N and only 23
read L and N. Five people read all of the three magazines.

Ty 9 Tl Ox mid &

& @1 & U B T 66 AT UHST L UGd 6. 56 @NT 9EASGT M Ugd 6, 63 T
UAGINUEd Bl Pad 27 AN L IR M UG o1 Had 25 ATM IR NUGd &
3R Had 23 AL IR N Ued 81 5 aT diHi e ugd 21

How many people read only magazine L ?

(A) 18
(B) 20
© 21
(p) 22

fepa ol ol UReT L Ugd 62

(A) 18




(B) 20
© 21

(p) 22

Answer Given by Candidate : B

Sl. No.85
QBID:13646985

In a town of 130 people, 66 read the magazine L. 56 read the magazine M and 63
read the magazine N. Only 27 read L and M. only 25 read M and N and only 2:
read L and N. Five people read all of the three magazines.

Ty g a IR HeTid o

&g @l & U B I 66 AT UEGT L UG ©. 56 @ 9EST M UGd &, 63 T
URE%T N Ugd g1 Pac 27 AT L 3R M Ugd &1 $ae 25 WM RN UG §
3R $ad 23 WHTL RN Ugd 1 5 AT il a1l ed &

How many people read exactly one magazine ?

(A) 55
(B) 40
(c) 60
(D) 50
faa T Saw Ue ufEeT ugd &7
(A) 55
(B) 40
(c) 60
(D) 50

Answer Given by Candidate : A

Sl. No.86
QBID:13646986

The square root of 0.00 s
(A) 0.3

(B) 0.03

(c) 0.81

(p) 0.081

0.00 &1 T 1 &7
(A) 0.3

(B) 0.03

(c) 0.81

(p) 0.081

Answer Given by Candidate : B

Sl. No.87
QBID:13646987




By using the digits 0, 1 and 5 once m each number, how many three digit
numbers are possible which are divisible by 3 ?

(A) 12

(B) 205

(© 3

(D) 4

TS @ | UHaR 0, 1 R 5 3@ & W g o e @1 fba- Sead a9 addl § o
3 § HIeg B

(A) 12

(B) 205

(© 3

(D) 4

Answer Given by Candidate : A

Sl. No.88
QBID:13646988

Which of the following statements concerning rational numbers are true ?

I. Rational numbers follow associative rule addition.

II. Rational numbers follow commutative rule for subtraction.
II1. Difference of two rational numbers 1s a rational number.
I'V. Rational numbers follow associative rule for subtraction.

(A) I andIII
(B) II and III
(¢) I and IV
(p) L II and III

ufivag dEmet § defia Fefafea s § 8 o0 w98 82
1. ofvim e IF1 & Sead a9 &1 ueE S &

I1. ufvaa den =0 & w4 fafag Fom &1 oed 3690 §
I11. <t uftag dEms &1 Haw ufEa Je gt &

V. uftdg JE=md Hu & 9egd 99 &1 96 Sl &
(A) I 3RIII

(B) II 3R III

(©) IIARIV

(p) I, II 3R III

Answer Given by Candidate : C

Sl. No.89




QBID:13646989 ] )
The following data gives the percentage of the top 10 states in terms of the number

of foreign tourist visits in India in 2019 (Source : tourism.gov.in). The total
number of foreign tourists visiting India in 2019 15 31408666.

Goa, 3 al Others
Bihar, 4 \\:\_?-,_; J'l’

Punjab, 4 b

Tamil Naely, 22

Kerala, 4 8 It =
Rajasthan, 5 f
West Benpal, 5

Dethi, 10
Uttar

Pradesh, 15

fFrafefad siies H Yoo o g faai aifgi @1 e & ual § =i 10 I
AR GEGACRIRICIE ﬂ;h?{: tourism.gov.in)

ay 2019 § YRd YHUI D aret [aG=i il & e T%e1 31408666 © |

o= 10

TAT B 15
How many people visited Tamil Nadu in 2019 ?
(A) 6009907
(B) 6909907
(c) 6990907
(D) 660907

ay 2010 I fobd ART A AHTATg &1 A= B2

(A) 6009907
(B) 6909907
(c) 6990907




(D) 660907

Answer Given by Candidate : B

Sl. No.90
QBID:13646990

The following data gives the percentage of the top 10 states in terms of the number
of foreign tourist visits in India in 2019 (Source : tourism.gov.in). The total
number of foreign tourists visiting India in 2019 15 31408666.

Gos,3 Others
Binar, 4 Sy 4o

Tamil Nadu, 22

e
-
Punjab, 4 b
N
Kerala, 4

Rajasthan, 5 ﬁ}?
Wil Bl_'r".l‘:.ﬂ. 5

Dethi, 10
Uttar

Pradesh, 15

fFafefad siies | Yo o3 ar faaw gl @1 S & ual 7 =i 10 I
&1 Ufawrd fea1 T 8| G;hﬂ: tourism.gov.in)

ay 2019 § YRd YHUI D aret [a<=i il B e T1 31408666 T |

10 e b
TE 3 s
e 4 :‘n:“
1ﬁﬁ|‘ﬂ' 4 "‘*._S
HIW 4 X
stk i s VO HAEMTE 18
famett 10

TET UEA 15

What ig the difference between the highest number of foreign tourists visiting any
state out of the top ten states and the lowest number ?

(A) 5976647
(8) 600000
(c) 5967647
(D) 6967647

fae=ht anfaat g wao f52 o T o g o=t 7 9 sl wwn @t weifte dem AR
Aag e ® 09 A fEa 8




(A) 597060647
(8) 600000
(c) 5967647
(D) 6967647

Answer Given by Candidate : D

Sl. No.91
QBID:13646991

The following table shows the amount of money spent by six university students
living in student accommeodation on food. travel. rent and miscellaneous expenses,
along with their monthly budget. (The gender of the students are mentioned in
brackets. M — Male. F — Female). Answer the following questions based on this
table.

MMonthly Budget Fent for
Food | Travel Miscdlaneous
[inEs) Apccommodation
Sonia (F) 27000 12000 4000 T000 4000
Deepak (M) 25000 10000 | 3000 5000 5000
Komal (F) 27000 12000 | 4500 6300 4000
G aurav (M) 22000 0300 | 4500 5500 2500
Arnav (M) 23000 11000 | 3000 000 4000
Shruit (F) 22000 10000 | 4500 5000 2300

fafafad arult § el srar & ¥ ¥R o8 fayfdaray & faeaniddl &1 viem.
g1, o vd fafay oo, e=RIfr S A1fie duie & 91y Ueiid gl
(faenfdal & foiv ®ive o M-IV, F-Oigdl, 39 YeR &1 Tl 8)

IR gole (FUd o) |HIoH |96 | SE g i (fafay
Tifar @) 27000 12000 [4000 [7000 4000
fl'ﬂﬁ{}a[} 23000 12000 (5000|3000 3000
ST (F) 27000 12000 [4500 |6500 4000
TR (V) (22000 9500 [4500]5500 2500
31'51-@(};{} 23000 11000 (5000|3000 4000
gfa @  [22000 10000 [4500 |5000 2500

What percentage of their total expenditure do the female students together spend
on travel ?

(A) 50%
(B) 45%
©) 17%
(D) 25%




g1 gR Higar fqenfial gR1 e foar a1 @ 34 T oad Bl [ava]
gfaed 82
(A) 50%
(B) 45%
(© 17%
(D) 25%

Answer Given by Candidate : C

Sl. No.92
QBID:13646992

The following table shows the amount of money spent by six university students
living in student accommodation on food. travel. rent and miscellaneous expenses,
along with their monthly budget. (The gender of the students are mentioned in
brackets. M — Male, F — Female). Answer the following questions based on this
table.

MMonthly Budget Eent for
Food | Trawvel MMiscedlaneous
(in Bs) Accommodation
Sonia (F) 27000 12000 4000 T000 4000
Deepak (M) 23000 10000 ( 3000 5000 3000
Komal (F) 27000 12000 ( 4300 6300 4000
G aurav (M) 22000 0500 | 4500 5500 2500
Arnav (M) 25000 11000 | 3000 5000 4000
Shruit (F) 22000 10000 | 4500 5000 2500

fafarad IRt § el srary & 38 ¥ o8 fayfdearey & faenidal &1 v,
a1, e vd fafay aga, e-RIfr S 91fie doie & 91y Ueiid gl
(fqenfial & foiv ®ive o M-y, F-Ofgdl, 39 YHR 41 T/l )

i goie (U H) |YISH [9rET |S1arg e faean |fdfdy
I (F) [27000 12000 4000 | 7000 4000
2u® v [|25000 12000 [5000 5000 5000
®IHT (F) 27000 12000 [4300 6500 4000
TG (M) 22000 0500 (4500|5500 2500
3{uig vy 25000 11000 5000|5000 4000
yfa(F  [22000 10000 [4300 5000 2500

Who among all the six students spends the highest percentage of their monthly
budget on food ?

(A) Somia
(8) Komal
(©) Armav
(D) Shruti




1t o5 il # € fua miftye soe & 9aifie uioem Hiee &) o9 fean
(A) =i

(B) FHT

(C) amfg

(D) Hf

Answer Given by Candidate : A

Sl. No.93
QBID:13646993

The following table shows the amount of money spent by six university students
living in student accommodation on food, travel. rent and miscellaneous expenses,
along with their monthly budget. (The gender of the students are mentioned
brackets. M — Male. F — Female). Answer the following questions based on this
table.

hMonthly Budzet Eent for
Food | Trawvel Miscellaneous
[inBs) Accommodation
Soma (F) 27000 12000 | 4000 T000 4000
Deepak (M) 23000 10000 | 3000 5000 5000
Komal (F) 27000 12000 | 4300 6300 4000
Gaurav (M) 22000 9300 | 4500 5300 2300
Arnav (M) 23000 11000 | 3000 5000 4000
Shruit (F) 22000 10000 | 4300 5000 2300

fafafaa grult § faemdf srar § 38 38 @6 fayfdaray & faaniddl &1 v,
T, fosmar ud fafay ool eIt 3910 |1 Juic & 1Y Uefdid §

(el & fon Hive O M-Goy, F-Ofgdl, 59 UeR &1 741 9)

I aole (BUd o) |YIeH |36 |HE" g e |fafay
if=aT (F) 27000 12000 [4000 | 7000 4000
ﬁqﬁ{_‘x{) 23000 12000 |(5000|| 5000 3000
HIAd (F) 27000 12000 [4500 [6500 4000
T?RH{}T) 22000 9300 |(|4300 (3300 2300
S{U'I%i’@{) 23000 11000 {5000 5000 4000
gfd @ [22000 10000 [4500 [5000 2500

Who among all the six students spends the least percentage of their monthly
budget on travel ?

(A) Somnia
(8) Komal
(¢) Arnav
(D) Shruti




i B faffal 7 9 femm o Aife Suie &1 =409 Uias[ 96 ) &8 (San
(A) Wi

(B) ®HATA

(C) amig

(D)

Answer Given by Candidate : D

Sl. No.94
QBID:13646994
In a survey of 400 college students regarding their preference for three kinds of

food — pasta. pizza and burgers. 25% said they like pasta and pizza. 25% said they
like pasta and burgers and 20% like pizza and burgers. 10% said they like all three.
60% of the students like pasta, 65% like pizza and 55% like burgers. Answer the
following questions related to this data.

Pl & 400 faenfddi @t il & 95y § ue gdeu 8 OF TR & 91
Ui, et Sik 1R & o 25% = $81 {6, 3= urar 8k fiw e &,
25% = Pl [ 3% UK 3R §7R UHE © 3R 20% &1 YK 3R 7R g8g 5
10% = &gl fab 35 T i1 9xiE 1 60% faenfial ! Ural 99iE 8. 65% PI
et 3R 55% I &7 U35 o | 39 fiee I gafid Fafafad udi s T
I

What is the percentage of students who like at least two out of pasta. pizza and
burgers ?

(A) 50%

(B) 60%

(©) 70%

(p) 80%

T, O SR 7R 1 9 &1 9 &0 3 31 UHg HR- did fagnidal o1 ufawd
fepaT 82
(A) 50%
(B) 60%
() 70%
(p) 80%

Answer Given by Candidate : C

Sl. No.95
QBID:13646995




In a survey of 400 college students regarding their preference for three kinds of
food — pasta. pizza and burgers. 25% said they like pasta and pizza. 25% said they
like pasta and burgers and 20% like pizza and burgers. 10% said they like all three.
60% of the students like pasta. 65% like pizza and 55% like burgers. Answer the
following questions related to this data.

BIaS & 400 faenfdal @1 sfisiy & G ¥ ve gdeur d dH YeR & G-
qeTUl-gTeT, fUwT 3R §7R & o8 25% = $el fih. 3= T 3R fUw 94g &,
25% H BTl [P It IRl 3R TR TG § IR 20% P IRl IR TR THe g
10% = ®l [& 3= g =1 9de g1 60% faenfdal of urar gdg 8. 65% @i
O 31R 55% B 9Tk T8 ¢ | 59 Siidpe I gafvd Fafafad vyl & 3w
g |

How many students like only pizza out of the three kinds of food ?

(A) 100

(B) 160

(c) 80

(p) 120

e 92l & oF UERI # ¥ Had e ude & a1d fead e &

(A) 100

(B) 160

(©) 80

(p) 120

Answer Given by Candidate : A

Sl. No.96
QBID:13646996

The abscissa of a point is negative in
(A) First quadrant

(B) Second and third quadrant

(¢) Second quadrant

(p) Third and fourth quadrant

et famg &1 ye el & sues e &
(A) Wy Ty &

(8) f&cita ud geitg =gufa #

(c) TEmaguiad

(p) TuT ud g agufs A

Answer Given by Candidate : C

Sl. No.97
QBID:13646997




Which of the following 1s/are rational number/numbers 7
1. 0.67
i fiaa
. 5
. f3
(A) (1) only
(8) (u), () and (1v) only
(¢) (u1) and (1v) only
(p) (1) and (u) only
Fafifaa # 9 sF-0 ufeg sendent 8/

(i) 0.67

(i1) i

(i) 5

(iv) 3

(a) (i) @

() (ii), (iii) 3R (iv) Faa
(c) (iii) 3R (iv) Faa
(D) (i) 3R (i) Faa

Answer Given by Candidate : C

Sl. No.98
QBID:13646998

What is the sum of cuber of the first 12 natural numbers ?
(A) 78

(B) 6084

(c) 6500

(p) 19500

WA 12 Witas Seme % o= &1 9 #7167

(A) T8

(B) 6084

(c) 6500

(D) 19500




Answer Given by Candidate : B

Sl. No.99
QBID:13646999

Five colleagues A. B. C, D and E come to office by car pooling and start
working at their desk at the exact same time. They put their mobile phones on
silent mode to avoid distractions and check their phones at fixed regular intervals
for any important massage. The internal in which A. B. C. D and E check their
phones are 45, 60, 30, 45 and 90 minutes. respectively. If they start working at
10 am, sharp, at what time will all of them be checking their respective phones
together for the first time ?

(A) 1 pm

(B) 12 noon
(c) 12:30 pm
(p) 11:30 am

g @reft &l A, B, C. D ¥R E &R gft ¥ safog ug9d § &R 3@ 1 990 W
AT 35 W B WY B ol § WH-HT ¥ 999 & [0 3 AleEd B 95de Al @
& &d & AR T off aeagy dgm & N # Myl fofie siim W EEa g1 AL B, C.
D 3R E &1 3971 B9 & &1 Hawa Ha: 45, 60, 30, 45 3k 90 fme g1 afe 3 &1
qe% 10 59 & 990 W S UNY S ¢ a1 4 941 U6 91 Ugell 9R 5y 990 9 304-309-
BF & @i

(a) 1:00 pm
(B) Tmex 12:00
(c) 12:30 pm
(p) 11:30 am

Answer Given by Candidate : D

Sl. No.100
QBID:136469100

25% of a class of students take up extra curricular activities (ECA). They chose
at least one option from music and sports. If 20% of ECA students chose both
music and sports, and 50% of them opted for sports. what percentage of ECA
students chose only music ?

(A) 10%
(B) 30%
(c) 50%
(D) 25%
UF BT & 25% el ursmadm ofofefigf gdfin) fymaa i d ST siv Eaf § 9

TATH U fIhed I9d 21 5418 a1 20% faemdf d@fid ok w9 &1 a0 § iR 39 9
50% = wal 1 A1 FgiafEd vy &1 3w dife)

2.5, 9 fha faemdiot 3 Saw 9iia &1 331
(A) 10%




(B) 30%
(©) 50%
(D) 25%

Answer Given by Candidate : B




